Fin 303

Spring 2007
Professor Dow

Calculator Handout
Basics

1) Locate the financial functions part of your calculator manual.

2) Learn how to use the alternate functions.

3) Learn how to store and retrieve variables in memory.

4) Learn how to set the number of digits shown.

Locating the financial functions
1) Locate the buttons for the financial functions.  We will need five:



[N]        number of years



[I/YR]   interest rate per year (8% = 8)


[PV]      present value


[PMT]  yearly payment



[FV]     future value

 practice
i)   Put in 5 as the number of years
ii)  clear the screen

iii) check to see if 5 is stored as the number of years.

2) Make sure that values are set to end, not beginning


HP10bII will say “beg” on the screen if set to beginning, nothing otherwise


Use the [beg] key to toggle it on and off – try it.


3) Make sure payments per period is set to 1.

i)   Enter 1 in to [P/YR]

ii)  clear the screen

iii) check to see if 5 is stored as the number of years.

Practice Problems
=> You save $10,000 for 10 years at an interest rate of 8% compounded annually.
i) Enter the following numbers (order doesn’t matter)

N
: 10

I/YR
:  8

PV
: -10,000 

PMT
: 0 

FV
: 
!! Important note!! (This present value is entered as a negative number since it is a payment out).  Some calculators want one payment to be negative and the other to be negative while other calculators want all payments entered as positive numbers.  Read your calculator manual to know for sure!


ii) Push the [FV] to get the answer.
FV = 21,589.25

If you are not getting this number then check to make sure you entered the correct numbers and that your settings are correct.  (For example, if you get 10,687 then your value of P/YR is 12, not 1)

=> What interest rate is needed to get $25,000 if you start with $10,000 and save for 10 years?
N
: 10

I/YR
:  

PV
: -10,000 

PMT
: 0 


FV
: 25,000

I/YR = 9.5958

=> What is the present value of $100,000 paid 20 years from now at an interest rate of 8/12?

N
: 20

I/YR
:  8/12

PV
: 

PMT
: 0 


FV
: -100,000

PV = 87,556.07
Notice that if you approximated the interest rate by 0.67 you get a present value of 87,498.10.  

